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Run 4987 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 31119
Mean: 17.4251 «/- DUDDED
St Dhewy: 1.2210 &~ 00048

=== Lager OFF ---
Entrie=: 45006
Mean: 31966 +- 0.0
Sid Dhey: 04422 - D005

Run 4987 quartatwize, Diffs)

18 20

=== Laser O -—

Entries: 31119
Mean: 08625 +- 0.0043
Sl Dhey: 07619 4 00031

=== Laser OFF ---
Eniries: 45006
Mean: 00021 +- 0.0019
Sbd Dev: 04111 - 0.0074

Run 4387 quartetwize, Asyms(

=== Laser ON -—
Entries: 31119
Mean: 31.2549 &/- 01565
Sid Dey: 236000 4~ 01107

=== Laser OFF ---
Eniries: 45006
Mean: 00745 +- 0.0702
Sid Deyv: 148957 4/~ (L0496
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Run 4987 quartetwize, NegHalAcc)/NSamplas0

.

=== Laser O -—-

Entrie=: 31119
Mean: 16.5626 &/~ DU00ER
Sbd Dew: 11710 &b 0.0047

=== Lager OFF ---
Entrie=: 45006
Mean: 31845 «/- Q.00
Sid Deyv: 04419 - 00015

] 5 Ty = 13 0
Run 4387 quartetwize, Sums0
[— === Laser O -—-
— Entries: 31119
— Mean: 355877 «- 00129
— Sid Dev- 22680 +- 0.0091
— == Laser OFF ---
— Eniries:; 45006
[— Mean: 63971 «+- 0.0037
— Gid Dev- 07827 - 0.0028
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Run 4987 quartetwise, PosHalAccd Run 4987 quartetwise, NegHalAccA
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Run 4987 quartetwize, Asymsd
— === Laser ON -—
1800 — Entries: 31119
100 E— Mean: 31.8873 «/- 0.1388
— Sbd Dev: 24,4942 &0~ L02E2
140t — === Laser OFF ---
— — Eniries: 45006
= Mean: -0.0236 «- 00340
1pon — Sbd Dev: T.2128 - 00240
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Run 4987 guartetwize, Asyms USbg1

=== Laser O -—
Entrie=: 31119
Mean: 00074 «~ 006017
St Dhey- 02916 4~ 00072

=== Lager OFF ---
Entrie=: 45006
Mean: 00001 « 0.0014
Sid Dey: 0.2918 &~ 00070

[

Run 4987 quartetwize, Asyms DSbg1

i,

1

=== Laser O -—

Entries: 31119
Mean: -0.0006 & /- 0UO0DE
St Dhey: 0L0E30 - 000X

=== Laser OFF ---
Eniries: 45006
Mean: -0.00053 «/- 00004
Sid Drey: 0L0E32 - 010003

.4

a.z2

Run 4387 quartetwise, Asyms Horiz Finger

=== Laser ON -—

Entries: 31119
Mean: -0.0004 «/- 0L000S
Sid Dey: 0157 - D.0006

=== Laser OFF ---
Eniries: 45006
Mean: -0.0002 «/- 0LO0DE
Sid Dey: L1624 - 00005

=
[

2500

000

2800

2000

1500

100

500

25010

2000

1500

1000

500

S0

000

2000

100k

Run 4387 quartetwize, Asyms UShg2

=== Laser O -—-

Entrie=: 31119
Mearn: -0.0001 «/- 000011
Sid Dhew: 001984 & 00000

=== Lager OFF ---
Entrie=: 45006
Mean: L0005 «/- 0.0005
Sid Deyv: 01996 - 00007

"IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

1.5 a

Run 4387 quartetwize, Asyms DShg2

=== Laser O -—-

Entries: 31119
Mean: -0.000ES &- 00004
Sid Deyv: 0LO7ST & 0003

== Laser OFF ---
Entries: 45006
Mean: 00003 +/- 0.0004
Sid Dev: 007ED &~ 00003

=H T
=

Run 4987 quartetwize, Asyms Vert Finger

=== Laser O -—-
Entries: 31119
Mean: 00062 +- 0.0014
Sid Dev: 0.2429 - 00070

== Laser OFF ---
Entries: 45006
Mean: -0.002Z3 «- 00013
Sid Dev: 02798 & 00009

1.5 a 0.5




posHD

Run 4987 quartetwize, posHI vs time

Run 4987 quartetwize, negHO vs time
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Run 4987 quartetwize, posH4 vs time
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Run 4987 quartetwize, negH4 vs time
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Run 4987 quartetwize, USbg1 ve time
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Run 4987 quartetwize, USbg2 ve time
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Run 4987 quartetwize, DSbg2 ve time
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